
IX கணித� 
3. ��ேகாணவிய� 

(1)  ​ம���  ​எனி�  

(1)   (2)   (3)   (4) 
 

 

(2)  ​எனி�  

(1)   (2)   (3)   (4) 1 

 

(3)  ​ம���  எனி�  

(1)   (2) 
  ​ (3)   (4) 

 

 

(4)  ​எனி� –வி� மதி�� 

(1) 0   (2) 1    (3)   (4) 
 

 
(5) –� மதி�� 

(1) 0  (2) 1  (3) 45  (4) 89 

 

(6)   

(1) 3  (2) 
  ​ (3)       (4)  

(7)  ​எனி� –� மதி��  

(1)   (2)       (3)  (4) 
 

 

(8) –� மதி��  
(1) 0  (2) 2  (3) 3  (4) 4 

 

(9)  ​எனி� –வி� மதி�� யா�? 

(1)   (2)   (3)  (4) 
 

 

(10)  ​எனி� –வி� மதி�� எ�ன? 

(1)   (2)   (3)   (4)  



(11) -� மதி��  = ​_________ 

(1) 0     (2) 1    (3)  (4) 2 

(12)
 ​எனி�   எனி� 

 ​_________ 

(1)   (2)   (3)   (4) 
 

 
(13)  ​எனி�   -� மதி�� எ�ன? 

(1) 0  (2) 1  (3) 2  (4)  
(14)

 ​ம���  ​ேம��  ​எனி� 

–� மதி�� எ�ன?  
(1) 0  (2) 4  (3) 2  (4) 1 

 
(15) –� மதி�� எ�ன?  

(1) 0  (2) 1  (3) 2  (4) 3 

 
(16)

 ​ம��� 
 ​ேம�� ,​

  ​எனி� 

–� மதி�� எ�ன?  

(1) 0  (2)   (3) 1  (4) 
 

 

(17) –� மதி�� எ�ன?  

(1) 0  (2)    (3)   (4) 1 

 
(18) –� மதி�� எ�ன? 

(1) 1.2150  (2) 1.4908  (3) 0.5092  (4) 0.5067 

 
(19) –� மதி�� எ�ன?  

(1) 0.40677  (2) 0.8004  (3) 0.2950  (4) 0.3150 

 
(20)

 ​எனி�  θ​ –� மதி�� எ�ன?  

(1)   (2)   (3)   (4) 
 

 
  



3. ��ேகாணவிய� 
 

விைட  
 

1 2 3 4 5 

4 1 3 1 2 

6 7 8 9 10 

3 4 2 4  

11 12 13 14 15 

   2 3 

16 17 18 19 20 

     
 

 
 


